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QUESTION 1

Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order Quantity. Assume
that the reorder quantity is 24 and you specify 10 for the fixed lot multiple and enable rounding the reorder quantity.

What will be the reorder quantity?
A. 30
B. 20
C.24
D. 25

Correct Answer: A

QUESTION 2

Your customer has received 50 boxes of item A (priced at $10 per box) and these items are transferred to the asset
Inventory organization. There are no additional quantities in any of the inventory organizations apart from the received
50 boxes. After running all the necessary cost accounting and receipt accounting processes successfully, the item
valuation for item A is still zero. What is the reason?

A. Items are not consigned items but ownership is still with the supplier.

B. Items are consigned items and ownership lies with the supplier.

C. ltems are consigned and ownership is transferred to "owned".

D. Items are not consigned items and ownership is with the organization.

Correct Answer: B

QUESTION 3

Your organization is using min-max planning to replenish stock and the planning parameters are set at item organization
level with a default subinventory.

Item: A, Min Qty: 25, Max Qty: 150 and Current Level: 20

The item above is purchased from a supplier. Although there is subinventory on hand, the subinventory is below the
minimum required level. This should trigger a Min-Max report entry, but the requisition is not generated. Why?

A. Fixed lot multiplier is not set.
B. No value has been set for the "Min-Max Replenishment Reorder Approval” profile.
C. Min-Max planning can be performed at the Organization level.

D. Rounding the Reorder Quantity is disabled.
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E. Item is not defined in Manage Item Subinventories.

Correct Answer: E

QUESTION 4

A Persistence application locks entity x with a LockModeType.PESSIMISTIC_READ lock type. Which statement is
true?

A. LockModeType.PESSIMISTIC_READ is the synonym of LockModeType.READ
B. This operation will force serialization among transactions attempting to read the entity data.
C. This operation will result in a TransactionRolledbackException if the lock cannot be obtained.

D. If the application updates the entity later, and the changes are flushed to the database, the lock will be converted to
an exclusive look.

Correct Answer: B

Reference: https://docs.oracle.com/javaee/7/api/javax/persistence/LockModeType.html

QUESTION 5

Given the code fragments: Which action completes this composite primary key implementation?

J/linel

public class Contactld implements Serializable {
private String countryCode;
private String phoneNumber;
// remaining implementation

DEntity
/ /line 2
public class Contact implements Serializable {
ENotNull
@1d
protected String countryCode;
ENotNull
@1d
protected String phoneNumber;
// ramaining implementation

A. Add @IdClass annotation at line 1.
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B. Add @Embeddable annotation at line 1 and replace both @Id annotations with @ EmbeddedId annotations.
C. Add @IdClass(Contactld.class) annotation at line 2.

D. Add @Embeddable annotation at line 1 and @Embeddedld(Contactld.class) at line 2.

Correct Answer: D
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